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O,\ Question 1- When a bike 1s sold for Rg( 15,500, the owner loses 20%:
3@(\9// \D\ " At what price must that bike be sold in orderto gain 20%?

T |- (e Tk SlTgeh 15,500 - H Sl ST €, q1 ATieteh shi 20% 1 ThHE
AT 21 20% AT STH H oh IQ'IK, 34 15 ol Tohe Hed 9L ST ST %IT%Q‘?

&O"L; 115500
lg/ol%

(20/

?5 g
}9@/

A.Rs 23100

=3250R] B.Rs 33100

C.Rs 44300
D.Rs 20300

https://t.me/mathbytarunsirmeplLE" None of these
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Question 2- A person bougrticle for Rs 1200, In which some of

—_—

30 these are broken then he decided not to sell them. He sold remaining

article at Rs 7 each and makes a profit oFind the percent of

article broken.
T 2- Teh ek A 240 FEGS T 1200 &0 H @21 88 8 %@ L T8 dl
38§78 TRl si<i ShT HET [ohT| 918 3T e ohl 7 &0 Jief S T sl @
I 396 T T 1A FHHTAT 81 22T 85 TE BT AT el AT

A.10%

\B-5%

C.15%

D.20%

https://t.me/mathbytarunsirmepl E. None of these
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Question 3- Ten articles were bought for Rs. 8, and sold at 8 for Rs. 10

30 The gain percent is
T 3- 39 U 8 F9U H E{IEl 7T, N 8 TEGSAT Rl 10 TR H S=1 =T A1H

gfereTda =T 27

A.25%

B. 40%

C.50%
“P:56.25%

https://t.me/mathbytarunsirmepl E. None of these
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Question 4- By selling 36 article a person loses selling price of 9 articlé-:.-

30 Find the loss percentage.
T 4- 36 TEIAN I s § Teh ATk 9 T I 5hd 70 o1 &1 81 T

TiaRTd T shifs

A.10%
B. 25%
£720%
D.22%

https://t.me/mathbytarunsirmepl E. None of these
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Question 5- By selling 40 article there 1s profit equal to the cost price of

30 8 article. Find the profit percentage.
T 5- 40 STEIHT T < T § TEISAN o 52 W oh ST AT BIdT 2 AT

RIS

A. 5%

I
—€.20%

D.15%

https://t.me/mathbytarunsirmepl E. None of these
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Question 6- A person sells an article at 25% profit. If he sells 1t at Rs 300
less after buying Rs 800 less then he will gai Find the cost
price of article.

T 6- Tk AT Teh TE] ol 25% AT T =T 81 AlS 98 36 800 T A
Gie o S18 800 TUY HH TSI & 1 3 5% IATEh 14 BT & oAl 573

He T i

ARs 4800
B.Rs 5000
C.Rs 3800
D.Rs 4200

https://t.me/mathbytarunsirmepl E. None of these
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Question 7- A dishonest seller promises to sell his goods on cost price

{0 but he uses 600 gram less weight. Find his profit percent.
9% 7- Tk AT oIkl 379 HIeT ol 353 Hed UL si<i+ 3T aTal ld] & Tichr
T 600 TTH HH TSI hT IUATT AT 2| IHhRT ATH TTALTd JTd shifsIy|

A.100%
BA50%

C.220%

D.50%

https://t.me/mathbytarunsirmepl E. None of these
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Question 8- A seller promises to sell his good at 20% profit but he useé

{0 200 gram less weight while selling. Find his profit percentage.
T 8- Ueh forshdl AT SR i 20% TATH YT SI<i 3hT FTET LAl & Ao I8

éa% HH IS T I ShLdT 2] IHRT AT TTdTd JTd shifTy)

A.25%
B.75%
“€750%
D. 100%

https://t.me/mathbytarunsirmepl E. None of these
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Question 9- A person promises to sell his goods at y% profit and he usés
20% less weight. After this he gain 62.5%. Find the value of y%

Ueh S fch ST S hl y% AT YL = T STaT Ll & S T8 20% HH oISl
T ITTNT hdT gl SHoh A1E 3 62.5% T AT 1Al =l y% T AT 1 shitord

Hom WK

https://t.me/mathbytarunsirmepl

A.100%

B. 60%

C. 80%

D.30%

E. None of these
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Question 10- By sellingfor Rs 1 there 1s a loss of 40%. HOW—

30 many article for Rs 1 should be sell to gain 20%.
T 10- 64 TEGAT T 1 YA H o= T 40% hl BTH BIT 2l 20% AT ITH FLA

o TeTT 1 %0 H fehal &1 shl ST ST = Mieq?

AT32
B. 16
C.24
D.36

https://t.me/mathbytarunsirmepl E. None of these
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Question 11- A person bought some article at Rs 2700. He sells two- A_
third of them at a profit of 5%. At what percent profit remaining should
be sold to gain overall 13%.

T 11- Th i<k o 2700 &9 H e I&] @lial| 98 390 ¥ SI-fdeTs Sl 5% h

N O o

AT QL ST &1 36T 13% T ITH i o foTu 219 re ot feh Sferd W

ST STHT =1{=U?

A.12%
B. 15%
C.19%
D.39%

https://t. me/mathbytaruns1rmepl"b(NOne of these
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Question 12- One seller calculate his profit percent o
30 other on selling price. Both claims to have 20% profit. When there

selling price are same then difference of thesre actual profit 1s Rs 85.

Find the selling price of article.

T 12~ T Tofohd 70 AT STl oAl TTUMT 5h3 Hed T8 LT € ST g8

fershal T W ST ST ST @ Toh 38 20% AT 3T &1 ST folshdl Hod §H M

EIdT & ql STEd{ersh <1 3hT 7L 85 9 BIAT &1 S ohT folshd W STd shifstl

_A-Rs 2550

B.Rs 1550
C.Rs 3550
D.Rs 2050

https://t.me/mathbytarunsirmepl E. None of these
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Question 13- Two person sell an article for Rs.2,000 each. Pirst compufes

{0 his profit on cost price while Merchant B computes his profit on selling

price. Both make a profit of 25% each. Find the difference between there
profit.
T 13- A1 Ak Teh I I 2,000 T F o=d 7| T8 37 Hod T 370 AT
<1 U AT & STaIfeh AT B orshal Hed W1 370 AT shi TUHT LT 21 &I
Tk 3l 25% T AT AT =] T oh a1l T AT JTd hifsTg]

A.Rs 40

B.Rs 30

C.Rs 50

D.Rs 20

https://t.me/mathbytarunsirmepl’E'/None of these
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Question 14- A sells an article to B at 12% loss. B sells 1t to C at 12.5%
profit. If A sells his article to B at the cost which C purchased then find

loss percent of A.

T 14- A Teh %] ol B %l 12% BT W s=dT 8l B 36 C 3l 12.5% A9 W
SIerdT 81 Ald A 3T S I C g @lial T8 AN W B 1 =0T 7, Al A 3
HIEEIRNGEIRETIS e

A.2%
B. 1%
C.3%
D.4%

https://t.me/mathbytarunsirmepl E. None of these
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